
 
 
 
Ques.1 5 x 5 x___ = 75 
 5 x 5 x _______ = 75 
 

Ques.2 70 ÷ 5 =___________. 

 70  ÷ 5 = _______. 
 
 
Ques.3 8 legs mean 2 cats. 
 12 legs mean ___ cats. 

8 ™üÖÑ�Öê μÖÖ×−Ö 2 ×²ÖÛ»»ÖμÖÖÑ 
12 ™üÖÑ�Öê μÖÖ×−Ö _____  ×²ÖÛ»»ÖμÖÖÑ | 

 
Ques.4 
 
 
 
 
 
 
  
  There are __________ rows with _________ plants. 
 μÖÆüÖÑ _____ ¯ÖÓ×ŸÖμÖÖÑ ŸÖ£ÖÖ _____ ¯ÖÖî¬Öê Æîü | 
 
 
Ques.5  
            7, 14, 21, ______, 35. 
 7, 14, 21, ____, 35 
 
 
Ques.6 Half dozen of pencil = ________ pencil. 
 †Ö¬ÖÖ ¤ü•ÖÔ−Ö ¯ÖêÛ−ÃÖ»Ö = _____ ¯ÖêÛ−ÃÖ»Ö | 
 
Ques.7 Three times of 40 = ______________. 
 40 �úÖ ŸÖß−Ö �Öã−ÖÖ = _____ . 
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Ques.8                                                            
 
 
              
             
   

Total number of triangles = _________. 
 ×¡Ö³Öã•ÖÖê �úß � ãú»Ö ÃÖÓ�μÖÖ = _____ . 
 
 
 
Ques.9 How many months are there in 3 years 
 3 ÃÖÖ»Ö ´Öê ×�úŸÖ−Öê ´ÖÆüß−Öê ÆüÖêŸÖê Æïü |  
 
Ques.10    solve       108          ________  =  9. 

  Æü»Ö �ú¸üÖê  108  ÷ _____ = 9 | 
 
Ques.11 5 x 5 x 4 x 0 = _____. 
  5 x 5 x 4 x 0 = _____.  
 
Ques.12   12, 24, ___, 48, ___, 72. 
  12, 24, ____, 48, _____, 72 
 
Ques.13    2 hours 30 minutes = ______minutes. 
  2‘ÖÓ™êü 30 ×´Ö−Ö™ü = ______ ×´Ö−Ö™ü | 
 
Ques.14    Weight of 1 brick is 2kg. What is the weight of 350 brick. 
  1 ‡Õ™ü �úÖ ³ÖÖ¸ü 2 ×�ú»ÖÖê Æîü ŸÖÖê 350 ‡Õ™üÖê �úÖ ³ÖÖ¸ü ŒμÖÖ ÆüÖê�ÖÖ | 
 
Ques.15     3 meter 20cm = _____cm. 
  3 ´Öß™ü¸ü 20 ÃÖê´Öß = ______ ÃÖê´Öß | 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 

ANSWERS 
 
 
Ans.1  3 
  3 
Ans.2  14 
  14   
Ans.3  3 
  3 
Ans.4  2, 18 
  2,8 
Ans.5  28 

28 
Ans.6  6 pencils 

6 
Ans.7  120 

120 
Ans.8  18 

18 
Ans.9  36 

36 
Ans.10  12 
  12 
Ans.11  0 
  0   
Ans.12  36, 60 
  36, 60 
Ans.13  150 
  150 
Ans.14  700 kg 
  700 ×�ú�ÖÏÖ 
Ans.15  320 cm 
  320 ÃÖế Öß 
 
 

 


